S 3 FEE R RARCH T BHB OBV FERLH T HE [ &l
wast 2| 7,345,390
OBFFEORVBERZZNC LS RZERVED (BEfT : 4. F9)
ESIEL] EFIuES] EIEH EZIES] &t
= e R 28 = e R 28 = e
EROHEICLD, ZHOHFESF—CESSNTVEED 0 0 0 0 0 0 0 0 0 0
SNEOERIESRS(C A f—(CEHS
ENZOERNITROICED, ZRORFAN—CEHSNT 0 0 0 0 0 0 0 0 0 0
[A¥-5310)
BERECLBERNIOSIINCS VT, HEERRECEL
D, EOEMENHRENTLSED 0 0 0 0 0 0 0 0 0 0
3 sRgh(C x —(CEDHS
75 AHEHREOEURDICED, RIS H—(CEHSN 0 0 0 0 0 0 0 0 0 0
TW360
YISPR CRITNEI T BRI TIE N R AT E THREN BB
PIRES. (HAEN—(CRESN3EERN (LZRIICH 0 0 0 0 0 0 0 0 0 0
KT BRMEET. )
EiR. AER, PEEXSREBROMAIE 0 0 0 0 0 0 0 0 0 0
RS THoT. HD, BARENERA RIS
THIINERENST L REEEROBNTLSBACHT 0 0 0 0 0 0 0 0 0 0
U RS R EBORES
BE, HABETK R SBERBRIBCONT, FHEX(E
BHESIEE0 (REETS TR EE N —DIBA( 0 0 0 0 0 0 0 0 0 0
1B, )
| 5 ==(C q 5 184
iﬁﬁf@l’;ﬁ‘g’éﬂﬁ (EBIAFBEOTH TREEEMTHE 0 0 0 0 0 0 0 0 0 0
EIRSIRAMEEEN TV A RULHE T —DIBAICH
B S oy BT 1| 4,345,390 0 0 0 0 0 0 1| 4,345,390
EEECHIBEMRRUTERSOMA 0 0 0 0 0 0 0 0 0 0
TIREMEER T SR B RIS EDBIRICON TS
IBRAIR T 5L TTRER B DB E R 550 0 0 0 0 0 0 0 0 0 0
&t 1| 4,345,390 0 0 0 0 0 0 1| 4,345,390
OB2OMNB(CLNFER(AITBRENTERVED (BT : 4. 1)
ESTEES] EeFIIEa] EeEES] EAEH an
"R | =& B | &% "R | =& B | =% wB_|__ e
&t o 0 o] 0 o 0 o] 0 o] 0
ORI DENAFIEZRHHNDED (B4R 4. F)
ESIEL] EFIuES] EIEH EATER &t
= e R 28 = e = 28 = e
RICRAEA RO T, BEXEMR0E ANCEEEE
S BB ERET ORI BN OE BT ERBTENTR 1| 3,000,000 0 0 0 0 0 0 1| 3,000,000
FITHBL.
BEREERAICE BEE (L, BHEICL R TE UGB R A5 T
DET BTN TEERABIBBL. 0 0 0 0 0 0 0 0 0 0
BEANELELS MR SETHOT, HBILTEVANS
PNEFRLATOMOERC LML RSB NS 0 0 0 0 0 0 0 0 0 0
3L,
SRCRIELRINE, RETIMEEEL, REBELCR
AR A6 D TROELBIFNERS R LERBE TS 0 0 0 0 0 0 0 0 0 0
3L,
5t 1| 3,000,000 0 0 0 0 0 0 1| 3,000,000
OS5HESE29%0 3 5 5 HICLZEZHDED (BT : 4. 1)
ESTEES] E2E EEeEa] EATEH an
"R | =@ R 2% wR | =& B | *% wB_|__ e
&t 0 0 0 0 o 0 o] 0 0] 0
KT BRBRUSITSEI0E BT s e B RN RURAE2S. B35, BA=. B/S LTI sl LERERNouTE. ETONBIIEL TS,
OBFFENHZE2H FERZZNSD) ((BITFEDED (BEfT : 4. F9)
ESIEL] EFIuES] EIEH EATER &t
BE | =& R | =% BE | =& | =% = ¥
ait o [} o] 0 o [} o 0 0 0
(ST F R (8 : ¢, F3)
e &8 BErERR () EH 5
SH2EE 0 0
S 3EE 0 0
SH4EE 0 0
5 EE 0 0
S 6 FE 0 0
S 7 EE 0 0
SH8FE 0 0
it 0 0




